Day 3 Answers

a multiple of 5 3|5

a square 8 | 1
number
a cube 6| 4
number

Award ONE mark for:

. Any two correct that satisfy the
criteria in the table.

. Three correct with some
duplication of cards.

Do not
allow the
use of other
numbers.

Q2.
Award TWO marks for the numbers
placed correctly, as shown.

25.

26.

27.

28.

3 H
132 rd5 or 13213 or 13265

or 132.7 or 132.6(92...)

For 1 mark: 132 or evidence of
either a long division method or
short division method with only one
error (carry figures must be seen in
a short division method)

For 2 marks: 77 486 [2)
1802

X 43
5406
72080
77 486
An error in one row, then
added correctly, or an error

in the addition
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Day 3 Answers

18 24 30 36

Award ONE mark for any two numbers
placed correctly.

Q3.
All of 42, 63 and 77 circled or
unambiguously indicated.

No other numbers should be indicated.
Q4.

Award TWO marks for 16, 40 and 64
placed correctly, as shown.

16 24 32 40 48 56

Award ONE mark for any two numbers
placed correctly.
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